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POLITICAL SCIENCE

Full Marks : 80
(Part-A =40 + Part-B =40)
Pass Marks : 24

Time : Three hours

The figures in the margin indicate full marks
for the questions.

PART-A (3 -9)

Q. No. 1 carries 1 mark each (any six)............... 1x6 = 6

Q. No. 2 carries 2 marks each (any five) ............. 2x5=10

Q. No. 3 carries 4 marks each (any three)........... 4x3 =12

Q. No. 4 carries 6 marks each (any two) ............ 6x2 =12
Total =40

PART-B (¥ -9™)

Q. No. § carries 1 mark each (any Six)................ 1x6 =

Q. No. 6 carries 2 marks each (any five) ............. 2x5=10

Q. No. 7 carries 4 marks each (any three)........... 4x3 =12

Q. No. 8 carries 6 marks each (any two)............. 6x2 =12
Total =40
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PART-A / F-9™ [ T-9 [ &-w@0T
( Contemporary World Politics )
( st [ Fremife )

( ST [Pearemite )
( THST THIST G T AT 2T )

1. Answer any six from the following questions : 1x6=6
Rl s «i9l RiFear &b @wF bes ol ¢
frsfefe amefe (A @ @ deie e (el ¢
e FAEERE SEfesrn Jhe ' e for

(a) India is a member state of ASEAN. (Write Yes,/No)
O RN W G | (2Z/ 727 fe130)
oie AR (ASEAN) 79 413 | (2N @)
IR TR Hsm B (7 7eT oY)

(b) Who can exercise the veto’ power in the Security Council ?
Haisrel siffame ‘(Sb’ FFAel (I A FRI AT 2
el AR (S Al (F A FACS A ?

@t AR |92’ TR S g ?
(c) Which State is the successor of the Soviet Union ?

(RfeTt T TRt AG i 2
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i WY STEAIREAR B 99 T e ?

(d) Which country is regarded as the third alternative centre

of world power ?

worl [KeE *fes (@ee I (@ (S (Il 2 2
@ (= por ke *feq (Fwgel @ 22
oy G TR T S 99 TR A S ?
(e) Write the full form of SAFTA.
SAFTA F 7 Fo((h! forl |
SAFTA-R 5=}l il (1eall |
SAFTA-T 27/ ®eq #1?
(f) Which day is celebrated as United Nations’ day ?
@ ©ifRed IITRT T TudieR 9 = 2
I raibre igeika maeT THive =l 2302
1 WARE S48 8 9 Wi ™ S ?
(g) Write Yes’ or No’:
T geq W= el e
L e[ A @Il ¢
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i gar w1 for -
Technology is an important phenomenon of globalisation.
sgfeim Rdies @t esvgs)f ST
el iR gl wwgs)l iR |
TR AFE AR eSS |
(h) What is Greenhouse gas ?
TRTS (55 2
RIS a1 F1?
e F' I\ w2

() In which year India successfully tested its first nuclear
bomb ?

(T IS TRCS YL ARARE 2IFFH FAFeTOIE T~ e ?
(I TRE OO AL AR ST FFEOR A A0 AR 2

a1 wRrer R fifer fif fsfaerem am SR s e
ST 2
() What is the full form of WTO ?
WTO F 55 Foi(h! &2
WTO-a5 7~i¢f il 12

WTO- 3119 #er =17
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2.

Answer any five from the following questions : 2x5=10
WRieTe epTEs #11 Ricwicar oo o Tes fordl

frsfeifee el (A @ Al 2ew T (Tl ¢

MREMH HAE®RA SEfgsm ae e forl -

(a) Write the theory of UN which defines the indigenous people.

(b)

RAGT TdRe TooF TR el AeRIo! for2 |

(T SPTIIRS STACE AT (ReT] AR (@Teal |

ofiTfer GERMA FHre JomE TET 3ME geqel fo|
Or /21 / &l / Qi

Write short note on : Sacred groves in India.
5y (ORF 614l ¢ SlFed +iRkig P& |

RFEFY Tl (51l ¢ SRCed Sikg $EI |

e ferom foR @ 9Raf MUR gasn e |

Mention any two countries in South of India who are the
members of SAARC.

TiTed niwe e 4 BIFa R 73 e RS AN v |

ORICSR Wi (S SRFe SAARC-IR (F-(HeA] 76 A CER I
CoTCAl |

IRAf @ren fism@ 9™ SAARC 1 Safasen 9igmn ge 1 g
fert |
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(c) Write two causes of disintegration of Soviet Union.

RfeTs 2T dfessaeim 7hr Fie 2|
Fiferre 2o dfeeaee 7o FRe (el |
G Mg WIRNH™E JHF SeM fer |

(d) What is meant by South Asia ?
i Gfezl 5 2
wfEpel G eI FI @RI 2

Gl T green |1 S ?

(e) Mention two causes for the failure of stable democracy in

Pakistan.

7T ooy dfovr oFae olifTerR IR 75 TR T 90|
AR aterer elf v (F@ ARSI Lo 76 FFe Tt I |

iR TSIk g9 @I TARE el SIAEH JF Sed for |

(f) Write the permanent member nations of Security Council.

Taierel siffare BRI o AG (@ad= s {14l |
ierel sifqam 2R T AR TN el
Yty gmfa (swef) o Ak geeRft g fer|
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3.

Answer any three from the following questions : 4x3=12

Rl s 7 1 R fofo! eis Tes fordll ¢

aefefie emiefe (F @@ foaF 2T $ed @Il ¢

M@ FEHRE SEfgsmE aRgmE e fow e

(a) Write two arguments in favour of and two arguments against

(b)

Globalisations.

R 70! Feabs = 70 @edns e foral |
e 76 3feans R 75 @feans e @
TerT SR T AR S Sf See W ghE A

What is the necessity of International Organisation in the

world ? Explain its role.

e SITAEIT FRo1wa 2CAIeH [67 2 209 Sl i 4t |
R0y SRR RIS I S 2 @F S 171 S |
IgHE T TSR STRIEH AHifE 717 a9 fawe wREm |

Identify the causes of conflict between India and China

and suggest your solutions.

e IR bl WAew [REigs Rz biee w1 e (o s
SRR |
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Clge ¥ Bt & [EieR [Ranef wvre sl a2 o sl
A7 A |

IRA TR = TSR ST A1 STH™H e AGRE! 78 3R eat
JE G B |

Or /723! / @131 / Tar

Write a note on European Union.

BOEIAT AR eoige @5 G e |
BCERIA T TAE OB 5l IR |
TR Wrafaf geme a9g forgem fer |

(d) What is the Balance of Power ? How can a country maintain

this balance ?
FIOR SN F2 @4 AFT [F @R 2l T AT e
FAOR SN F1? G0 AT 93 SR FIeIE@ I A4S A 2

el TRl A g1 7 TR AT 96 "ER Ml g 2

(e) How is the relationship between India and Nepal ?
TIT© T (FAFE MEF TF (Al 2
OO G AR M TG Sl 2

URG AR T TR et Jefe 2
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4.

Answer any two from the following questions : 6x2=12
efile emprRs o[l R ghr 259 Tes foral ¢
fxferie el (A @@ 7o At Ted @Al ¢

e SEiEsE 991 SFAEE o for e

(a) What is the stands of India for environmental issues ?

AR TRERT [are TRed gl (@Rl 2
AR @ AR SRren gl 12
el faforeta vrRa ge fawmer s ?

Or /#23// @127 / war

What is the relationship between the rights of indigenous

people and environment ? Discuss briefly.

RAGTI TePTHReR SIfEPR SiF 2AfREF AES 7T9F F 2 5 SN
|

(PR SR S a2 AAREeE S T=9F 12 Aol
A I |

ofiTfe YYPRM HFeE TR STERTEN TeRf FrHr<iet 11 ? Y&t Hewd |
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(b) What is Shock Therapy ? Is this the best way for transition

from socialism to capitalism ?

B (2RI T 2 SRV 1] 4TegqvieT “ifads e 30! B! ©le
o2 Iifes] @S 2

*% (Shock) (o F1? AN (A LTOFANWT ATITSq T Toly
T @t @ @i 212 foe 2

& 90 (Shock therapy) 1?7 FHNERMEE J@-aRaH
ARG & {9 /ST A\ AW ?

(c) What is human security ? Discuss briefly.

R FRierel [ 2 530 NCeTbe I |

TR R Rioret F1e ATHE SEs FE! |

e @ty 7m A ? ged qend |
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PART-B / 2-9 / 4-9 [ @-sgT0
( Politics in India Since Independence)
( Fleres olqeq FiEife )

( FFicres erFres Aee )
( STIET 371d YRl TTEn-2r)

5. Answer any six from the following questions : 1x6=6
Rlee emprEs 7[R &by @9 ey fordl ¢
frfeife el (A @ @ 2o e (el ¢
RIERIEES EIRIEEIRES RICE RINIECHE I EEC I St

(a¢) In which year Bharatiya Janata Party was formed ?

TSI Teol Wel (I 5o 1o a1 (2R 2
ORISR Gl Al (Fi AN soq T 20AReT 7
IRAE ST W@l A HEgEe S G ?

(b) Which Party won the 1977 General Election ?
1977 51 f&i5Te (PG 7e TrEere Fafee ¢
1977 AR TRKEE @i 7@ 36 S 2

1977 "AERM faarafae 96 g @RI ?
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(c) Which princely state conducted election on the basis of

Universal Adult Franchise for the first time ?

@I TR IS LSRR AE ANATE (SIEFR Jifed YRS
f=ioe sRfoe (et 2

YR G ASGTE  (SBIEE difon S @i (TR S
f=ioe sfoe zmfe?

o9 TSieT fifs Qe aram od SFE ¥ef= AnemEfa grre foen
QA foarraty SemE ?

(d) Who was the Prime Minister of India after Pt. Jawarharlal

Nehru ?

TR (299 (50 ORes AqNE] (Pl SfEeT ¢

GETIEE (T2 2K SRCeA Uil (F ReEw 2
AT & 3E YRAf MER Ay R SIGEH ?

(e) From which year the first Five Year Plan was started ?
(T 59 7@ 2L 2R o owE 2
(I 3T (A AT 2T 2/ wieE 2l 2
oo AREAEAEE fifa a1 SRR fogif stsrenm S ?
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(f) What is the full form of EVM ?
EVM 3 =)<l Fol(hl ferai |
EVM-93 7= el (eTeal |
EVM- 31g #gq 17
(g9 Who was the chief architect of India’s foreign policy ?
OFed @AW Fifed J27 oo Jfe1 T (@RI 22
wiced [ Tifon 27 goifolm i <=1 237
WRAM A BIRUM wtef e SRR Hedl A S 2
(h) When was Sikkim merged with India ?
e foal eres wore bife 2l 2
fifew F@ ORCed A& I& T2
[BIETCIIICE I CSIEE CHEIRES (21
(i) Who was the first non-Congress Prime Minister of India ?
OIOT 2N T-Rale] AN (i SlfeE 2
OICSH YA SR UYTNE] (P RCeT 2

graf fife st 9 TerR wfeE 9] 19e 2
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K

() When was Assam Movement organised on foreigners

issue ?
RO ST (1 SPT SNewie (Sfot aifde (2feet 2
Rt TemicE [ SN Siewie 6 waiide gefe

TR SHRET A ST SHEEERART Teell SRR SIS 2

6. Answer any five from the following questions : 2x5=10
OoTS AEPTRS oSl RicpIear ooy e Tes fordl
frsfeifee emafr (2 @-ear vl Aok Ted Tl 8
MREMH HAE®ERA SEfgsm ae e forl -

(a) Explain the concept of ‘whip’.
2%l QRS Il < |
Whip’ @=elfG 1l =l |
‘Whip’ SFRITYE HRAF |
(b) Write a short note on : White Revolution
5y (ORF fordl ¢ (o [gl
<G BIel (=Tl & oo gl
Hﬂﬁ fort « g ifgerr
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(c) On which date draft of the Indian Constitution was signed

and it came into force ?

(@ O Oes FRYNT Uo9e T (2% iR 3 (oA o=l
ISR (2fee 2

(i ©iftitd ORTed MR PTeite IR TRRE @R @b I
(AF FRPFAT TR 2

T WIS RA Sfafe TeEe 9nme (49R) M- SeiaH STRI
S HIGAT SR SRR SR 2

(d) Mention two objectives of Nehru’s foreign policy ?
(TR @S TIfeq 70! T Teame 1 |
(T2 (A Sifed 710 Sy Bred Bl |
TEM A TR wifatt Jn gife e

(e) Write a note on NDA.
NDA T ¢#5% dft (BIsl ferel |
NDA-45 ©o[ts G0 GIl (oeall |
NDA-f1 9rmE AFe fergeam fer |
(f) Why was State Reorganisation Commission set up ?
AT A 9T Sl 57 1o a1 (2w
G Ao SCA 1o T 2l (&2
TSI QA SR AH A SR ?
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7. Answer any three from the following questions : 4x3=12

Rl erpres 7 1 R fofo! eis Tes fordl ¢
fxfaie exiaflod - foale arim ©ex (= eal ¢
A SEERAEE SEfgsEr aRgEE e for .

(a) How did the fourth General Elections in 1967 change the
dynamics of Indian politics ?

ORed T SIfSTETeiF 1967 bod bl ALRs FLnE e
sifiaen SffeE 2
SRS AG 1o S TETOE 1967 AEH vodl A N5 FreiE

IO TR ?

YRAM TS~ SRl 1967 HEeEH aemo faaeafermn
e TAFAE AR ?

(b) Write four features of India’s coalition government.
TITed FIE 6! HIFIRE 510 @ vl
ORISR IS (6] FRIIEE 5FG @ @Al
IR S & AR AFe Rgers for |

(c) How the problem of Regionalism can be solved ?
SRfETFORME FIC! e A Fi< 2112
SEERFORITE AP FTOI T F9 ([0S {102
SAEIRETE SRSl Aefe el g ?
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Or /#23// @127 / war

Give a brief note on Jammu-Kashmir.

T-SHRE eoie «ft (BrR ferall |
G-IHNEE Cod G0 AR GIdl (o1l |
SH SRR g 1 farger for
(d) What were the causes for mid-term election in 1980 ?
1980 5 SKIFIET (b SRR 5 & wiifest
1980 AT SRt WEibeTa FReief F1 F fesle
1980 AHUEM ToR 99 foummafuf SRHA®R A1 |1 74 ?

Or /723t /<1241 / Tar

Who announced Twenty Point Programme and why ?

(I R v Sinl @ FiRfee =i 7 2
I TR FOPB & (AR FEMRE GR (o 2
R A Twl wifdds wEeEeEE SR wE 2

(e) What is Green Revolution ? Discuss the economic and

political outcome of Green Revolution.

eos Rea [ 2 CIow [Kgke SLfoT i<t et o Fere] SCeTbl
BN
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e Rz F1 2 TS [2A@ AL 0T IR A fed FoNF SACEAB

S
Trert STifgrerEn 1 2 Mefl SiRgerf -2 T TSrE-eri remwrat
BSIENER

8. Answer any two from the following questions : 6x2=12

Wi PR o[ [epiear gbr o] Teq foral ¢
sl awel (A @@ 7 2ok TR @Il ¢
MM FAEhRE SEfgsmn JaE e o e

(a) When was the Bharatiya Jansangha formed ? Discuss its

ideologies.

TSR G (el 9If0e (2feel ¢ TN S RAC Scesl 341 |

F(@ OROR GTPIRY 90 2@feel? @7 Simed R el Sl |

RATE SHEE Hieedl SA™ SRHH 2 ofF 76w ' HiH |ewH |
Or /FZal /=<l / Tar

Analyse comparatively about the nature of Congress

dominance in India.

TITTe KT TR AFFS TI(F TertFE [Reaae SNs=RGR) |
SIRCS FREPT SNHATTR dFhO TS Geriers [esel I |
IRAE HIG MR ARgaEf Gmre Teamal faferfy dma 2
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(b) What are the main considerations of the merger of Princely
State with United India ? Who played historical role in it ?

OIS AIERIZS (100 IS ez biferaee [aparngg
5 7 @2 FITe @I afegtre s wle ¢

OIS FYSHNZH A AGHIFTS Aenafers Mierser [Epapmg
F1 12 @2 FIF aferFe gh & Mol ?

IRA STE BT TG RbRS AT TSThRE! W G- =i
TSfoRRT A1 17 o AEeEE AR TRE foawe TR ?

(c) What is Foreign Policy ? Explain briefly.
@AW Fife &F 2 5 A= T4 |
i IS Fl2 FACHCH W A
T TYSTR @2 |12 e HRe |
Or /#23// @127 / war
Write a note on non-alignment in India’s foreign policy.
SRS (O AIfew (oD -aeorFel T @b (el ferel |
CRCSH (AR qIMSCS (ST a0l A™5{(F Gl GIel (o2l |

IRAM T TSR @i+t dresn M @9 (Non-alignment)
T HARA fer |
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